

**City of North Richland Hills**

Amy Stephens  
4301 CITY POINT DR  
NORTH RICHLAND HILLS, TX 76180  
astephens@nrhtx.com

**QUOTE NUMBER****OP-0126490-1**

Quote Date:	RFQ:
12/3/2025	
Contract:	TEXAS DIR-PURE STOR2 #DIR-CPO-5400
Quote Name:	OP-0126490

**THANK YOU FOR YOUR INTEREST.**

We are pleased to provide you with the following quote per your request. If you need additional services for ongoing product support, please contact us.

LEAD TIME	SHIP VIA	F.O.B.	TERMS
3 DAYS ARO	GRD SHIP	FOB Destination	NET 30

**YOUR ACCOUNT TEAM**

**Brittany Crawford**  
brittany.crawford@redriver.com  
2146808332

**Betsy Sadler**  
betsy.sadler@redriver.com

*Lead times are based on the most current information available and are subject to change as situations impacting our Secure Supply Chain evolve.*

LINE #	ITEM #	DESCRIPTION	QTY	PRICE	EXT. PRICE
		TEXAS DIR-PURE STOR2 - #DIR-CPO-5400 Pure Storage Renewal 2025-2026			
		Flash Array //X20: Primary - 12/15/25 - 12/14/26			
1	FA-X20R3-22TB-1MOGOLD	PURE STORAGE  PURE STORAGE-EVERGREEN GOLD RENEWAL-1MO-NRH-ADM-Pure- Array01.nrhtx.com (PCHFJ20380067, PSPFT204014S9)	12	\$1,293.44	\$15,521.28
		TEXAS DIR-PURE STOR2 #DIR-CPO-5400 <b>PoP Date:</b> 12/15/2025-12/14/2026			
2	DFM-CHASSIS-DP-22TB-1MOGOLD	PURE STORAGE  PURE STORAGE - EVERGREEN GOLD RENEWAL - 1 MONTH - CHASSIS EXPANSION (PSPFT21401LVS)	12	\$648.57	\$7,782.84
		TEXAS DIR-PURE STOR2 #DIR-CPO-5400			

**PoP Date:** 12/15/2025-12/14/2026

---

3	SS-DFM-45TB-1MO-PRM-FVR	PURE STORAGE	12	\$1,314.00	\$15,768.00
---	-------------------------	--------------	----	------------	-------------

PURE STORAGE EVERGREEN FOREVER SUB  
FOR 45TB EXPN - 4 HOUR DEL, 24X7  
SUPPORT, 1 MTH TERM

TEXAS DIR-PURE STOR2

#DIR-CPO-5400

**PoP Date:** 12/15/2025-12/14/2026

Flash Array //X20: DR - 12/15/25 - 12/14/26

---

4	FA-X20R3-22TB-1MOGOLD	PURE STORAGE	12	\$1,293.44	\$15,521.28
---	-----------------------	--------------	----	------------	-------------

PURE STORAGE-EVERGREEN GOLD  
RENEWAL-1MO-NRH-DR-Pure-  
Array01.nrhtx.com  
(PCHFJ20380003C,PSPFT204014SL)

TEXAS DIR-PURE STOR2

#DIR-CPO-5400

**PoP Date:** 12/15/2025-12/14/2026

---

5	DFM-CHASSIS-DP-22TB-1MOGOLD	PURE STORAGE	12	\$648.57	\$7,782.84
---	-----------------------------	--------------	----	----------	------------

PURE STORAGE - EVERGREEN GOLD  
RENEWAL - 1 MONTH - CHASSIS EXPANSION  
(PSPFT21401LVM)

TEXAS DIR-PURE STOR2

#DIR-CPO-5400

**PoP Date:** 12/15/2025-12/14/2026

---

6	SS-DFM-45TB-1MO-PRM-FVR	PURE STORAGE	12	\$1,314.00	\$15,768.00
---	-------------------------	--------------	----	------------	-------------

PURE STORAGE EVERGREEN FOREVER SUB  
FOR 45TB EXP - 4 HR DELIVERY, 24X7  
SUPPORT, 1 MTH TERM

TEXAS DIR-PURE STOR2

#DIR-CPO-5400

**PoP Date:** 12/15/2025-12/14/2026

Flash Array //C60 - 12/15/25 - 12/14/26

---

7	FA-C60R3-590TB-1MOGOLD	PURE STORAGE	12	\$3,980.50	\$47,766.00
---	------------------------	--------------	----	------------	-------------

PURE-EVERGRN GOLD RNWL-1MO-NRH-  
ADM-Pure-Array02.nrhtx.com  
(PCHFJ2244006,PSPFT230402K1,PSPFT2305  
032N)

TEXAS DIR-PURE STOR2  
#DIR-CPO-5400  
**PoP Date:** 12/15/2025-12/14/2026

Pure Storage - "Free Every Three" Controller Upgrade Eligibility

8 FA-X-TO-X20R5-ETH-FF-UPG PURE STORAGE 1 \$0.00 \$0.00

PURE STORAGE - FLASHARRAY //X20R3 TO  
FLASHARRAY //X20R5 CONTROLLER  
UPGRADE

TEXAS DIR-PURE STOR2  
#DIR-CPO-5400  
**PoP Date:** 12/15/2025-12/14/2026

9 PS-DP-UPISUPGDRN PURE STORAGE 1 \$9,560.00 \$9,560.00

PURE STORAGE - PROFESSIONAL SERVICES  
FOR CONTROLLER UPGRADE

TEXAS DIR-PURE STOR2  
#DIR-CPO-5400  
**PoP Date:** 12/15/2025-12/14/2026

10 FA-X-TO-X20R5-ETH-FF-UPG PURE STORAGE 1 \$0.00 \$0.00

PURE STORAGE - FLASHARRAY //X20R3 TO  
FLASHARRAY //X20R5 CONTROLLER  
UPGRADE

TEXAS DIR-PURE STOR2  
#DIR-CPO-5400  
**PoP Date:** 12/15/2025-12/14/2026

11 PS-DP-UPISUPGDRN PURE STORAGE 1 \$9,560.00 \$9,560.00

PURE STORAGE - PROFESSIONAL SERVICES  
FOR CONTROLLER UPGRADE

TEXAS DIR-PURE STOR2  
#DIR-CPO-5400  
**PoP Date:** 12/15/2025-12/14/2026

**TOTAL**

\$145,030.24

**\*Attention Contracting\*** Domestic Orders placed against this quote may be subject to state sales tax (if applicable) unless your organization's tax exemption certificate for the appropriate state(s) is included in your order. This quote is valid for 30 days unless otherwise noted within this quote. For terms and conditions please visit:

[Terms and Conditions](#)

**REMIT TO:**

Red River Technology LLC  
PO Box 780924  
Philadelphia, PA 19178-0924

The use of the items sold hereunder are governed by and subject to the end user terms located at (as applicable):



**\*\*\* Attention Contracting \*\*\*** Domestic Orders placed against this quote may be subject to state sales tax unless your organization's tax exemption certificate for the appropriate state(s) is included in your order.

This quote is provided IAW FAR Part 13, 14, or 15.

This quote is valid for 30 days unless otherwise noted within this quote.

#### **Terms and Conditions**

Thank you for working with Red River Technology LLC

Quotations are considered all or nothing unless otherwise specified. Please contact us if you have a quotation you would like to procure a portion of.

This quote is intended for the use of the person to whom it is addressed and contains information that is privileged and confidential and may be protected from disclosure under applicable law. If you are not the intended recipient, your use of this message for any purpose is strictly prohibited. If you have received this quote in error, please notify the sender so that we may correct our records

All purchases are subject to credit approval. Invoicing of hardware/software products and licensing will be based on proof of delivery.

Invoicing of services will be based on Period of Performance (POP) start date, milestone completion, or as otherwise agreed upon in Statement of Work (SOW).

All returns are subject to pre-approval and must have an RMA (Return Merchandise Authorization) number issued by Red River Technology LLC. Return approval may be based on the policies of the manufacturers whose products we provide. Generally, unopened products in 100% re-sellable condition may be returned within 30 days. Please take note that most manufacturers do not permit the return of products that have been opened, custom built or otherwise preconfigured. Some manufacturers do not allow returns for any reason. Please check with your sales representative for specific manufacturer return guidelines. Failure to return a product within the applicable return period will be deemed to be an acceptance of the product.

Red River Technology LLC does not separately warrant the products of the manufacturers we carry.

Red River Technology LLC will honor all pricing for a period of 30 days pending manufacturer or distributor price increase or discontinuance, unless otherwise noted within this quote.

Shipments of information technology products to California may require additional charges to cover CA state environmental fees.

The customer will be responsible for all legal costs and third party collection fees associated with non-payment of invoices.

Terms and conditions, and other contractual obligations, based on effective customer specific contracts and/or agreements supersede and take precedence over these standard terms and conditions.

Orders may be subject to state or local taxes without the provision of reseller, or valid tax exemption certificates.

Red River Technology LLC is an equal opportunity employer. All decisions concerning the employment relationship are made without regard to age, race, color, religion, creed, sex, national origin, marital status, veteran status, the presence of any physical or mental disability, genetic information or any other status or characteristic protected by federal, state, or local law. Discrimination or harassment based upon any of these factors is wholly inconsistent with our company values and will not be tolerated.

These terms and conditions are subject to change without notice.

Additional shipping charges may apply when OCONUS, expedited, or heavy-weight shipments or any non-standard shipping arrangements are requested and/or required for order fulfillment.